A B REFIFhEE

07 R F1H 2016411 23H
7 KR VS 18 ZEBEPA
H= A=
RER e e Bk
1t : 24 Y L= (A VAT: ¥ 1t : 1258 X . %8
& ok 7 - B /& A 7 H—F
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3NT +1 430 [£3] 4H = 420
2 it 1t 5Dx = 750 x 5Cx -3 500 6
3 panyiie] [ri] 4S +1 -650 x 4S +1 -650
4 E=] [ri] 3NT +1 -630 2] 3NT = -600 1
5 it [ri] 4H -1 50 75 4H = -420 10
6 panyiie] 1t 3NT +3 490 1t 3NT +3 490
7 E=] 1t 3S = 140 [£7] 2H -1 -100
8 TS [ri] 5Cx -1 100 1t 4S -1 -50 4
9 panyiie] 1t 6H -1 -50 [£3] 6H = 980 14
10 | WHB 1t 3C +2 150 [ri] 2H +1 -140 4
DATUMSit T
Sl I TZEHBEPA Y. X+ 33 15
7YY /5KER 11 8/ 9K ZREE 1 ait 33 15
Ea/E—F -1 E[AVATWE S5 -11 V.P. 15.52 | 4.48




A B REFIFhEE

7R 2R 2016411 23H
3 HFRTEEP VS 8 5tk —PA
H= A=
B o\ o\ FEEE
1t B % - BIoR T T=% % - 2
M RICE 7 : SKEER B9 . Rpte 7 - ZE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 6H -1 -50 1t 4H +1 450 11
2 it [£3] 3D +2 150 [£3] 3D +2 150
3 panyiie] x 6H = -1430 x 4S = -620 13
4 WE=] [ri] 4H -3 300 [rif] 3NT = -600 14
5 it [ri] 3NT = -400 75 4H -2 100 11
6 ,?ﬁ [£3] 3NT +2 460 [£3] 3NT +3 490 1
7 E=] [£3] 2H -2 -200 [£7] 3H -3 -300 3
8 TS 1t 4S -1 -50 1t 4S = 420 10
9 ,?ﬁ [£3] 4H +2 480 1t 4H +2 480
10 | \WHB 1t 2S +2 170 1t 4C +2 170
DATUMSit T
GSEPA AiSpE—PA Y. X+ 17 | 46
TE/AICRE 26 ESFBWRGKE 7 ait 17 | 46
ZAh/ZFIE -7 ZT5/ KRR 26 V.P. 233 | 17.67




A B REFIFhEE

%78 % 3% 2016411 H23H
1 iF&YIZFPRA VS 4 HEBKS
H= A=
AI[ZFBA BBKSE BBKE A= FBA
1t : #RUR R : "B it : == IR : KHEAZE
F  BEE 7 BEZ m  BEZR 78 R
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 4H = 420 [£3] 4H +1 450 1
2 it [£3] 3D +2 150 [£3] 3D +2 150
3 panyiie] x 4S +1 -650 x 4S = -620 1
4 E=] x 4S -2 200 [rif] 3NT +1 -630 13
5 it [ri] 4H -1 50 75 4H = -420 10
6 panyiie] 1t 3NT +3 490 1t 3NT +2 460 1
7 WE=] 1t 2NT -3 -300 [£7] 1H = 80 9
8 TS 1t 3S = 140 1t 4S -1 -50 5
9 panyiie] [£3] 5H +1 480 1t 4H +1 450 1
10 | \WHB 1t 2NT = 120 1t 3NT -2 -200 8
DATUM% it iFEE
w=YIZFRA HEKS r. 5] 38 11
WEssEs 12 ZEE/SEE 6 | & | e | o
SREZR/IYZRR 16 Wig//iBEZE -12 V.P. 17.33 | 2.67




A B REFIFhEE

%78 %45 2016411 H23H
2 BlafFFiBEA VS 11 ZEEXRPA
H= A=

B AR BN BN B S

1t : REeELT A 1t : Bk 7%« SBRE

w5 - i 7 - R R 7 - STiE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | Xk dt 4H +1 | 450 it 4H +1 | 450
2 it [£3] 3D +2 150 [£3] 3D +2 150
3 panyiie] x 4S +1 -650 x 4S = -620 1
4 E=] [ri] 3NT -1 100 [rif] 3NT +2 -660 13
5 it [ri] 4H -2 100 75 4H = -420 11
6 panyiie] 1t ANT +2 490 [£3] 4D +2 170 8
7 WE=] [ri] 2Cx -1 200 1t 2S -1 -100 7
8 TS 1t 4S = 420 1t 4S -1 -50 10
9 panyiie] 1t 4H = 420 1t 5H +1 480 2
10 | WHB [£3] 4S +1 650 [£3] 3S +1 170 10

DATUM#it AEE
B =i EA SZEBRPA y: S+ ] 59 3

XPELL /Bl 41 SREEHE/IREE -20 it 59 3
PRE/AEFEHE 20 FIBE/MER  -41 V.P. 20




A IHEZ REFIFhEE

7R %5 5 2016411 H23H
6 EREER VS 15 ;TFEraSRA
= =
BREF LA ERA LA &R BREF
it . SN K 5K 1t : %A X XS
mg : HE 7 IBx RS Fi b v
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | Xk dt 4H +1 | 450 it 4H +1 | 450
2 | ikl & 4D +1 150 [£3] 4D +1 150
3 || & | as | = | 620 ® | 4s | = | -620
4 |wel & |3nT | +1| 630 &= | aNT | = | 600 1
5 |mit] & | 31 | = | 140} 5 | 4aH | -1 | s0 5
6 |mm| 4t | aNT | +3 | 490 | 4t | 3NT | +3 | 490
7 |wal @m | 3c | 2| 100 4 | 2s | +1 | 140 1
8 |wxl|l 4t | 4s | 2| w0 | 4 | 4s | -1 | 50
o |#zmE| 4t | aH | +1 | 450 | 4t | 4aH | +2 | 480 1
10| ws|l & | 3H | 2| 20 46 | 25 | +2 | 1270 | 1
DATUM&iit iFE
BREFPA I TeST= U r: 5 ] 1 8
ShnF/HE O (ETN = 6 ait 1 8
EELEThE -6 KRG O V.P. 7.49 | 12.51




A B REFIFhEE

7" ¥ 6 R 2016411 23H
14 F®YIZBEPA VS 16 I"GEFRKEA
H= A=
TYIEE RS RS TYIEE
1t - BN P T—— 7% B
A . EEE 7 : #)1ET BA R 74 : XIZIE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 3NT +2 460 1t 4H +1 450
2 it [£3] 3D +2 150 [£3] 3D +2 150
3 panyiie] x 4S = -620 x 4S +1 -650 1
4 E=] [ri] 3NT +1 -630 2] 3NT +1 -630
5 it [ri] 4H -1 50 75 4H -2 100 2
6 panyiic] 1t 3NT +3 490 1t 3NT +3 490
7 PWE=] [ri] 2NT +1 -150 1t 2S -1 -100 2
8 TS 1t 4S -1 -50 [ri] 5Cx -1 100 4
9 panyiie] [£3] 4H +1 450 1t 2HXx +3 770 8
10 | \WHB [ri] 3H -1 100 [£3] 3S +1 170 2
DATUMSit T
iR EPA I Z&ERPA Y. %+ 1 18
NS EoE -4 ZEBIR R 11 ait 1 18
[REM/XIZEE -11 mEaE/M) || 4 V.P. 471 | 15.29




A B REFIFhEE

7R 7R 2016411 23H
O 5iE—PBA VS 12 BAXEFBA
H= A=
o BEETIN BTN o
I EWE 7 i ITp—— - 2960
e 7 RER & BER 7 -
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 4H +1 450 1t O6NT -3 -150 12
2 it [£3] 3D +2 150 x 4H -3 150
3 panyiie] x 4S = -620 x 4S = -620
4 WE=] x 3NT +1 -630 5| 2Sx -3 -800 5
5 it [ri] 2H = -110 ® 3NT = -400 4
6 ,?ﬁ 1t 3NT +3 490 [£3] 3NT +2 460 1
7 E=] 1t 3D -1 -100 [£7] 2H -1 -100
8 TS 1t 4S -1 -50 1t 5S -2 -100 2
o |#wm| &5 | 6H | = | 9s0o | & | an | = | 420 | 11
10 | \WHB 1t 3S +1 170 [ri] 3H -1 100 2
DATUMSit T
BiSip—PA BAXETFBEA Y. 3+ 40
Eif S 7 AP/ B -33 ait 40
Z=BHEN/#752dE 33 KRBT /RER -7 V.P. 1922 | 0.78




A B REFIFhEE

7" ¥ 8 i 2016411 23H
10 EIETHSEA VS 13 FIUFOK
H= A=

| HWHOR HWHOR |

1t - I % - W T =vur % B

B FRE 7 : IR =4 i I Sk

x| | R | m | R | mee| e | 2 |er axe| 20| T
1 | Xk dt 4H +1 | 450 it 4H +1 | 450
2 it [£3] 3D +1 130 [£3] 3D +2 150 1
3 panyiie] x 4S = -620 x 4S = -620
4 WE=] [ri] 3NT +1 -630 [rif] 3NT +1 -630
5 it [ri] 4H -1 50 75 3NT = -400 10
6 ,?ﬁ [£3] 3C +3 170 1t ANT +2 490 8
7 E=] [ri] 3C = -110 [ri] 2C = -90 1
8 TS 1t 5S -1 -50 1t 4S -1 -50
9 ,?ﬁ [£3] 4H +2 480 1t 6H = 980 11
10 | \WHB 1t 4C +1 150 1t 2S +2 170 1
DATUMSit T
[EIECH R = 1UN ENFOX Y. X+ 10 | 22

BN/ PRk e -9 AL/ EBLT O ait 10 22
PEFINE 7 il O BRIt/ FRHRES 9 V.P. 6 14




A B REFIFhEEE

B 7R 0o 2016411 23H
5 iR SEFIFD VS 17 i®&BHES
H= A=
REERD T T REERD
Tapp——— % TER ITE— % mE
e =GR - T
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 5H = 450 1t 4H +1 450
2 it [£3] 3D +1 130 x 5Cx -2 300 5
3 ,?ﬁ x 4S +1 -650 [ri] 4H = -620 1
4 PWE=] [ri] 3NT +1 -630 ® 3NT +1 -630
5 it [ri] 4H -1 50 75 4H -1 50
6 panyiic] 1t 3NT +3 490 [£3) 4C +2 170 8
7 PE=] 1t 2S -1 -100 [£7] 2S -1 -100
8 TS 1t 5Sx -2 -300 1t 4S -1 -50 6
9 ,?ﬁ 1t 5H +1 480 1t 4S = 420 2
10 | \WHB [£3] 3S +1 170 [ri] 4HX -2 500 8
DATUMSit T
RS ENFD SIEGES Y. 5+ 10 20
Baif/Ef -7 XIFEH /53 = 3 ait 10 | 20
BFEZ/7EEK -3 FER/FFKR 7 V.P. 6.57 | 13.43




